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Solve the problems.

B How many solutions does the equation
4x +3 — 1 =202x + 2) — 2x have?
Explain your reasoning.

Show your work.

Solution:

How can you s‘impli‘fy
the equa‘h'on?

\
For which value of ¢ will the equation 2x — 5= 2x — ¢
have an infinite number of solutions? Select all that apply. How can you tell
when a linear
A 3 equation hasan
infinite number of
B 4 solutions?
C 5
D 6
s -
B For which value of c will the equation 3x + ¢ = 3x + 2
have no solution? Select all that apply. How can you tell
when a linear
A 2 equation has no
ion?
B 3 solutions
C 4
D 5
Charles chose A as the correct answer. How did he get that answer?
\ .,)
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Lesson 14 Solutions of Linear Equations

(B




Solve.

B Tell whether each statement is True or False.
Do you need to

a. 3t+7=3t+6 simp)ify any of the
has no solution. D True D False equa’rion;%

b. 5x—6=3x—6+ 2x
has one solution. D True [:] False

€. 5+5b—-3=2+5p
has infinitely many solutions. D True D False

d. When an equation has one
solution, the variable terms

on both sides are the same. I:I True D False

N v
B Nyoko wrote these two equations. N\
How can you tell
Equation 1:6x — 5+ 2x=4(2x — 1) — 1 when a linear
Equation 2:3x + 7 = bx + 7 equation has one
solution, no solution,
PartA or in‘FinH’ely many
A solutions? :
Nyoko says that Equation 1 has one solution. Do you
agree with her? Explain your reasoning.
Show your work.
Solution:
PartB
Can Nyoko find a value for b in Equation 2 so that the
equation has no solutions? Explain your reasoning.
\. .
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